AH2AENE H168RI G &

e Eaidi R (j:%:x-—lfzzomoos))

Eﬂﬁ’b?e

I

PPN RVASY () etriRE

¥ it ﬁfmlif%m&%@/‘
WG B HEFIRIKE
+ B OREEEERIEE EEB#ELM&EF%B
E:1j A S289H 120 (1), 13A(H)
= % AR EERNARRE Y (172060)
S % NI B ME e
FOH R HEm
Lk B PR BK

FRHAEBRE

HH EH TUUR EEk RACEE) R4 eors HE
9OH13H | tRge | P | 46004 TRIFO) (2) Fe/ARKIE 4598 ) Wik
BE7400M | To& 48.86 By HMQ) [ AR 49.17] K&0
B1400M | Tio 48.58 JIEf% Bz () /AR 49.17 B0
51400M | RS 48.32 JIEf% Bz (2 AR 49.17 B0
B1-400M | PR 48.83 Hiky HIMQ) EAEE | 49.17 29
9H 12 BA110MH | Pk 15.08 @? k() | A FKE | 15.25 S
&% (1)
. S EFI%){ ¥E%(2> A3
wyaxioomr | PRfEE 42.35 TR A IREE | 4259 | K&
o LR
LF400m | PR 57.74 | JEE B | AR 5781 K&
KNI =F0(1)
TS
wevaoms | el 35851 Tty g 40090 K
PR B )h(1)
srsoomw | PR | 222755 | O 2R5(2) BV 23,10.9: 0
9H13H srooom | R 21.96 VG HELSH) AR 22,17 29
srooom | Bk 22.00 % Biz Q) AR | 2217 KEHT
B Bz @
S A~
meocoor | B 3,19.02 jggi%ééég A 32126 Kok
EEy H [A(2)
OH12H | krikebk| DRk 3mo00 BF Q) | AR 3m00 | KA A
WoU RarT ay
Bt | BZl | XIE B m/sec. 5;:0 J_E.'_io'/ﬁ Bt | Bzl | X2 B m/sec. &80 é_%é
9/12 9:30 =0 Pﬁ@:{t 3.0 2451 72% 9/13 9:30 i W 1.7 27.0 63%
9/12] 10:00 [ &Y | 4t | 2.5 [24.0] 71% 9/13 ] 10:00 | &b | 4L | 1.4 | 25.0 | 72%
9/12 [ 11:00 [ 2D [ded | 1.7 [ 24.0] 71% 9/13 ] 11:00 | &Y | 3K 1.8 | 235 | 87%
9/12| 12:00 [ &Y | mik | 1.8 [25.0] 72% 9/13 | 12:00 | &9 | K 2.2 | 23.5 | 87%
9/12 | 13:00 [ &Y [deH | 0.9 [ 23.5] 75% 9/13 ] 13:00 | &Y | 3K 1.5 | 235 | 83%
9/12 | 14:00 [ &Y | mi | 0.0 [24.5] 75% 9/13 | 14:00 | &Y | M| 1.6 | 245 | 76%
9/13 | 15:00 | £b H 3.0 24.0 79%




#1688 HESSERABTAS BLREEXS
REBER—ER
(GR: AX£E043) B F (3535 ] 172060 (A A EEEHN EE*J:EEE%
[I53 2§ 3 i 4 i1 iz 6 {i 7 {1 8 fi
A/H iZ B Bk K& FE it B EKZ/FRE it B EKZ/FE it B EKZ/FE it B EKZ/FE it B EKZ/FE . &% &%/Pﬁl% it B EKZ/FRE ic &%
09/12 BF -T.T%& ZEt3 1. 04560 AIA (2 11,1933 2 T1.37[FR —BQ T.37E =HQ 1. 44TR 11. 61 i 11.66[ /MR AZE (2 11.66
100m =R EARE =R -EARE =R N =R EARE = AR = - BiRmE lss*x LTHRZEAR =tk EEE
09/13 -1.1%4& EE3H() 21.96 fE# BRZA (2) 22.00| =% HM(2) 22,2755 ®1E(2) 22.63 BIiE =h(2) 22.97|fB E2(2) 23.58 HiE FFH (1) 23.62 /MR AKX (2) 23.72
200m B -EARER GR & -EARE GR &% -k ARE =R IV =R - AR =4 - iR =ik FEZEASRE =% EHEE
09/12 B Bz (2) 48.32 =W HM (2) 48.83 &k LI (1) 49.95 ¥RiE  R=th(2) 51.16 B§ B3R (2) 54.29 BB #(2) 54.57 B% X (2) 56.07 /MR B2 (2) 57. 61
400m B -EARE GR Bk -EAEE GR Bk -EAEE =R ERE =tk @ =ik L@ =% - EE T =R J:EE?:
09/13 I+ Bz (2) 1,59.49 A+E E(Q2) 2,00.78 &H:E F#(2) 2,01. 41 /&4 XEA) 2,03.51| 2511 @B (2) 2,05.24 |8k E &5 (2) 2,05.38 5kH B (2) 2,10.39| B8 EEE (2 2,10.98
800m ER-EARE =R EARE =% L@ - EARE =% EEFE =R AR =R A FIEREE =% - EEFh
09/12 el Fa (2) 4,04.57 FE #2(2) 4,06.36 )11+ 2k (2) 4,06.81 #E 1&& (1) 4,10.58 5k F B2 (2) 4,10.63 A =& (1) 4,12.03 FiF ¥4 (2 4,12, 13 /hv#k EA (D) 4,12.99
1500m =% LEFE =R EARE =R EARE ER-EARE =R TSR =% EEFE =tk E@ =% LEE
09/13 fER HF3(2) 15,17.37 /51 BE(Q2) 1519.33 K8 @ (2) 15,28.88 K+t £ (2) 15,3443 /p#k EA (1)  15,34.91 #MA =& (1) 15,56.04 5kxH ZS(2) 16,35. 11 fRIE MK (2) 16,37.60
5000m =% LEFE =R EARE ER-EARE - EARE =ik LEFE =% LEE =R A FIEREE =i FHEEASRE
09/12 -1.338R =% (Q2) 15.08 MiE = (1) 16. 14/ KW K (1) 16. 72 BF B5R(2) 17.02/#k ZE3H(2) 17.31 08 E(U 20.48
110mH B EARR GR E1x-EARE =R EARE =% - BiRAL =R A FIEREE = EHE
09/13 I EZE(2) 1,00.51 ®kiL %17 (2) 1,01.60 #& &4 (2) 1,02.61 #&E HE() 1,03. 48 Nk @A (1) 1,06.88 =i# ,ijcﬂ) 1,07.12/0 & B (1) 1,13.91
400mH =ik EEE =R -EARE = BpiRAL =R A FIEREE =% - EEFh = - BiRmE =R aRE
09/12 HE 2 (2) 9,32.22|)II% #HE(2) 9,37.98| 2511 B (2) 9,44.90| iz (1) 10,23. 04 #r9 EAFE (1) 10, 37. 71| 8RS Tz;ﬁjc (2) 10,45.42/'=TF #E@(1) 10,54.34 X5 #E%k(2) 10,54.36
3000mSC ER-EARE =R EARE =tk EEE =% LEFE =ik EEE B FHEEASRE =% - L EFeh =R A FIEREE
09/13 A0 %52 22,27.55 M@ &2 250917 /MUMA EXR(2) 26,01.54 K5 #®4(2) 34,32.54
500 0mW =R L EE GR &% - AFTH ‘.%*s‘c-ﬁ;“ﬂrﬁ BR-LHEAR
09/13 T2 &2 1.87 EF u%m(2> 1.70 # #4 (2) 1.60 & Hu*(1) 1.55 Mk 2L (2) 1.45
EE B =R EARE =% FiR = - BRI =i =R TSR
09/12 Rk TIB5(2) 6.70(+1.6) =48 #*1 (26 42 (+0.4) | #3F B8 (1) 6.39(+2.2) @iE 5%7((1)6 142, 7) | KR+ (1) 6.13(+1.4) [sh#f FF(2) 6.11(+3.2) F B @& (1) 5.94(-1.0) &E#E (1) 5.93(-0.3)
EiEHE =R EARE =R EHE =R EARE =R ERE =R EARE =R =R N =ik EEE
09/13 SR K (203.51(+2.3) [ dhFf EFE (2)13.33(+1.4) FBiE  FAR(102.48(+2.3) i=Fk :‘5(1) 11.94(-0.2) FEER #E(2) 11.79(+2.6) /K ZEL(2)11.51(+5.8)
=Rk = AR =R N =R EHE =ik EEE =% - £ HEFeh =R A FIEREE
09/13 i B () 10. 81P3% KB (1) 9.07 Big ®A ) 8.76 /hk —R (1) 8.37T =H LK) 6.41 BiR &% () 6.10
mi =% - £ EFeh =R ARE =R A FIEREE =4 - B iR =A% BpiRAL Bk FEZEARE
09/12 FEm K& () 271242 &= (1) 25. 54| Bi5 R (1) 23.29| &3 1&EE (1) 22.92| Il GEA(2) 19. 74 /h#k — R (1) 19.01
A A% =R ERE &% EHFeh =R A FIEREE =R A FIEREE = BpiRAL =4 - BiRmE
09/12 AT 33.80| ®BiZ iRA (1) 19.35/ |3 K& (1) 17.86 ;57K #IK(2) 16. 71 &3¢t 1&8E (1) 15. 64 /pk — R (1) 14.50 BRUE K (2) 12.23 i H&H/ (1) 10. 03
nyv-1% = - BiRE =R A FIEREE =R AR &% - EHFeh =R A FIEREE = - BiRmE B FEZEASRE - FHZEARE
09/13 ek K (2) 45.45 B R (2) 42.80 ;FK K (2) 39.26 /hE F£(2) 35.32/NEH #(2) 34.82 =H LK (1) 26.02 £2% #&E (1) 24.57 @K H&1) 23.29
Y =R aHE =% iR &% - EHFeh =ik FHEEASRE =% FHRA =4 BpiRAL ER-EARE =4 - BiRmE
09/12 EARES 42.35 &FtHE 44.16| LA®R 45. 83| FiR L 46.02 tEFARE 46.22 tHABES 47.08| LB F#A 47.16 L@ 47.77
4x100mR =E EBHEA0) GR| HEK K#t(2) B ZEEX) B 6 (2) B BR) mE EEO) gk wEA (1) =iE &t (2)
FiR —B(2) BE =t (2) MR X (2) FE HE ) HE (1) Fl Sfﬁﬁ 2 L #E(2) B ABF(2)
FiE [ Q) AR KH(2) =g kD ® BHE () Ki5 &4 (2) =R =AM K A Q2) & BX()
S EEs() BE FEAW) INGR EZE(2) R B2 Y- -AV) il #E(1) thit & (1) HE B=(2)
09/13 EARE 3,19.02| L@ 3,34.49|/hgk 3,34.91 &+tE 3,35.10| L@ 3,41.40 FEZASR 3,42.65 EiR4t 3,43.82 | BiRm 3,45.24
4x400mR B Bz GR  EE 15t (2) i EFEQ) mEK  K#(2) Bl A (2) HE A (1) A& 5 (2) T REW)
et Bz (Q2) a=iE Q) A BE(2) mE 5=t (2) )il (1) NG FR(Q2) ® BE(Q2) = EKRQ)
iR L) B B (2) B X3} =R K#(Q2) HE EEHEA) RIS X (2) AH =EA) HE 2(2)
=iF BHM(2) B &Q2) stiE mE(2) mE E’EKRA) =L EBE (2) B BRQ) BF BH(2) =H# £t )
09/13 T2 &332 4691 | EIE 155 (2 3780|EIE FE(1) 33| mK HE () 2855
I\TE%R - EARE =i - iRt =i - iRt =i - iR
09/13 EARE EFH @A iR HFIEPE iR AT tHRZEARE
ERATER 213 95 66 66 53 43 41 31




FF

FE 9F128  11:10
REE 98128 13:10
700m
2= 526% (KR) 10. 32
235047 (GR) 10. 81
FiE BBEE 3 255 + 2 CIEGIEBBE o: %4 LIEEBRE
[ 1481 &R -1.7 [ 2481 LR -1.2
IE| Y| No. E £ iE%& Eﬂﬁi/ﬁ*% IE| Y| No. KE £ iE% Bk mE
1 3 2823/ MEQQ B 1,340 |1 5 2809 %A #tI() Bk 11.27 Q
Yy 97 MEHR INEE 1#74 At EARE
2 6 2847 HR —KE(2) B 11.42Q |2 4 1585/ #8 =t (2 &k 11.50 Q
T 7 A0 EARE D Yary ERH
31 4 1815|/hR AKX Q) [Ek 11.679 |3 7 2773t A Q) &k 11.80
1273 MY FAXR Ty By % LHA
4 5 1880 LR HE(2) =k 11.84 47 3 1781 =2 Bth ()  |Bik 12.02
by NVED] L HAFH D vany tH
51 7 1583FEk A#(Q2) |Bik 11. 91 5] 8 2830/FE fEE() [E 12.09
924 54% AFH 7393 29AF INGE
6/ 1 1852//hE B (2 =k 12.04 6] 2 1890/h#t FEF() [E 12.30
3 30 tEZEARE thh3 ¥ AT
70 2 1579|=%# & (1) | 12.34 6 1532/FE BB () &%
Y4 bt LS PNE 73t THE 2R Ri5
8 8 178241 B=(2) |&% 12.83 9 181248 HEE(1) B
YHE T 14 tH #9734 74+ FAXR Ri5
9 Y4 =ER mA®M) =i
g favs LA Ri5
[ 34A] [RLE -0.4
IE| Y| No. KE £ iE%& %ﬁ/ﬁ*%
1 5 284840 BIK (D) |&#& 1.22 Q
E7F Y94 EARE
2] 6 1855|Hi® RF() [E 11.61 Q
TH 7 9% LTHZEAR
3 4 1575|f& E(2) =k 11.63 g
WY LYY iR
47 3] 2821 BFH kF () [E 11.86
4h/ 34 IMEE
5/ 7 1588|FH# {HEQ) |Bi 11.97
194 193 AfH
6/ 8 1915/ H/F BEE(N) |k 12.30
15745 3%t LHA
70 2 1811tk K ZE() |5k 12.53
31939 FAXR
8 9 1787tk BA() |B# 13.01
#h9 1395 g
R B
BEE -1.1
IE| Y| No. E £ iE%& Bk mE
1 4 2809|%& EEI(1) B 11.04
1#74 At EARE
2| 6 284880 AIAK(2) |Bi% 11.19
BT F Y94 EARE
30 7 283itim ME () |E 11.37
Yy 95 MEHR INGE
47 5 2847 hiR —BE(QQ) |B% 11.43
T A0 EARE
5/ 9 1585#8 = (2) |Bik 11. 44
D Yary ENH
6 3| 1575|MB E(2) 53 11. 61
WY LYY iR
7] 8 1855|Hi® RF() [E 11.66
¥ D 9% LTHZEAR
8 2 1815 /pR AKX (2) =i 11. 66
4273 MY AR




FF

= 98138 [10:00
R 98138 [13:40
200m
2= 508% (KR) 20.93
£E04% (GR) 22.17
FiE BBEE 348 2% + 2 O IERIEEBE o: 24 LIEEBE
[ 148] &3 -1.5 [ 248] Mm@ -0.8
JE b-»] No. KE % kA &R EE  [IE -V No. KE 4% kA Bl Y8 E
1] 5 2809%& #L(1) & 22.39Q | | 1 4 2806|=5 BHE(2) &% 22.36 Q
1#74 At EARE NeER9Y) EARE
2 7] 1815|/hR A% Q) B 23.57 Q| | 2 5 2823t ME(2) &K 22.91 Q
A3 MY LtEE Y 95 MEHR INGE
3 3] 1852[/hE B () =153 24.00 3 7] 1855/HE RE () B 23.70 q
17 3/b LTHZEAR TH 7 9% LTHZEAR
47 4] 2773l A () B 24.09 4 6 1TTTEZ BQ =15 24.05
Ty by % LHFA 139 19 tH
5/ 8 1588|FH# HEQ B 24. 40 5 3] 15541FH HR4E() B 25.08
194 193 AFH Ik 4 9444 iR
6/ 9 1779/ Bx 2 =15 24.73 6 9 194ER mAK(O) & 25.65
% 70 M NAYEEbY] LFHAA
7 6] 1579=# HH(1) &K 25.25 7 2] 1530848 £EF() B 25.92
Y4 Mt iR Y 4414 R4t
8 2 1623 28 #IAK () o 53 26.22 8 8 1586 /MEIL EAE(2) B 26.49
7993 yavh EAFERE 23V M4 AFH
[ 48] =% -1.8
JE b-»] No. KE % kA Rl Y8 E
1 5 2849 fE#% BizN (2 B 22.30 Q
k3" Yan/rk EARE
2 4] 1585/#E =t B 23.07 Q
D Yary ENH
3 8 1575 /B E Q) =15 23.66 g
WY LYY iR
4 9 28271|BH %32 Bk 24.04
4/ 4% IR
5 7| 1880 [EER #E(2) =15 24.04
by NVED] L HAFH
6 3 1781==% B2 &% 24.65
WD vany tH
7 6] 1532/FE #B() &% 25.07
77t THE R4t
8 2| 181218 HE() B 25.37
#9734 74+ AR
R Bk
BaE -1.1
I v-»] No. KE % kA ik EE
1 6| 2809 %A Et() =& 21.96
1#74 At EARE EEEd
2| 5 2849|B%% Bz () B 22.00
k3" Yan/rk EARE EEEd
3 4] 2806mIx B (2) &% 22.27
NviER9Y) EARE
47 7] 2823t ME(Q) B 22.63
Yy 95 MEHR INGE
5 8] 15852 =th(2 B 22.97
D Yary ENH
6 2| 1575 /B ZEQ) =15 23.58
WY LYY iR
7 3] 1855 RE () B 23.62
TH' 7 9% LTHZEARE
8 9 1815 /pR &K (2) =R 23.72
4273 MY AR




FF

' 98128  [10:00
RES 98128 12:25
400m
BEEsk (KR ) 46.98
£5EGR) 49.17
FiE BBEE 348 2% + 2 O IERIEEBE o: 24 LIEEBE
[ 148] [ 248]
IE| Y| No. E £ TEA B %= | IE L-» No. E £ TEA Bk mE
1] 5| 2806/=1F BEM(Q2) &k 48.86 Q| 1 5 2808 &R XEE(]) @& 50.29 Q
NeiER YY) EARE AEF0HF H A 8 EARE
2 4 1814 Hk BEQ) & 53.43Q | 2 4 1585 @I =H(Q) =k 52.02 Q
nwyy Y3 FAXR D Yay ERH
3 2 1831 BE BE(Q Bk 5458 q | 3 6 1779/ fER () =15 54.58 q
4h/ Ya%y” L HAFH ¥ 70 tH
40 8 1622 FEE kM) B 56. 87 47 3 15394 BE () =15 56.13
beF 34 EAFERE MY 3F 7RIt
5 7 1787 &% BA() & 59.09 5 8 15541 m/E() B 56. 26
#9 Yans tH Yk 4 9444 iR
6 6| 1586 /NEIL BHHE (2) B 59.62 6 20 1757 @& && (1) =5 59.01
1347 MY HAE ZU4 D ghtn HFEEEE
3| 1575|f& E2(2) =15 77 1889 mmEE WA (1) & 59.92
WY LYY iR Ri5 hbg ek L HAFH
[ 3481
IE| Y| No. E £ iE%& R EE
1 4 2849|fBt% 2 (2) B 48.58 Q
k3" Yan/rk EARE EtE
2 3 1T EE &2 =15 54.49 Q
137 19 +H
3 2 1530 B R®E() Bk 58.03
Y 4414 iRt
47 6 1857&EF* BB (1) =15 58.52
4 Yy tHZAR
5 7 1886 iFK EH (2 B 1,01.92
$HEF PEF LHETFH
5 1555 =@ :ZEX () |Bk%
397 4% iR Ri5
R Bk
IE| Y| No. E £ iE%& Bk mE
1] 5| 2889/fEf% Bz Q) Bk 48.32
k3" Yan/rk EARE EEd
2 4 2806 = AM(Q) & 48.83
NviER9y) EARE EEEd
3 6 2808 %R X)) B 49.95
H A 8 EARE
40 7 1585 HME E=H(Q) & 51.16
D Yary ENH
5 2 1779 Bxn© =15 54.29
% 7o |
6 8 1771 Bi& &2 =15 54.57
137 19 +H
73 1881 BE BmE(Q) Bk 56.07
ah/ Yamy” L HAFH
8 9 1814 /Hk BE(Q) & 57. 61
Wy Y3 LTHXE




FF

62 98138 10:50
R 98138 13:20
800m
EE55 (KR) 1,48. 46
£328% (GR) 1,55.79
FiE BBEE 3 2% + 2 O IBLIEEBE q: 44 LIEEEE
[ 148] [ 248]
I No. E £ TEA B EE | B No. K TEA R EE
17 5] 2811 &tH B2/ Q) &k 2,05.76 Q| | 1 1669 H+a 2 (2 |B 2,08.68 Q
447 Y219/ EARE 10 3% 744 EARE
2 4 2779 %I EELQ) &k 2,05.95Q | 2 178358 ##() Bk 2,09.05 Q
AP N LHFA EVy AV E tH
3 2 18I EH sEQ &K 2,06.69 g 3 2775 e mA() &K 2,15. 36
54/ Yany' =k 5t Yah tEAE
4 8 2826/7TN BE(2) 53 2,08. 64 4 1589 KFH H=K(1) B 2,18.03
4F Eth IMEE 11 Y9 AFH
5 7 1786 8E BH(1) &K 2,10.95 5 1854 K15 #&H(2) B 2,21.56
305 Wb M N Yoy LtHESR
6| 6 1857 @3 mR(1) =15 2,11.18 6 1886\ A B2 B 2,21.56
e Yy :FY N $HER PEY =k
7 3| 1551 KiF =X (1) 53 2,11.57 1553 #piE #A (1) =R
Hyh 99b BiRE PHE 47 pv8 BiRE x5
[ 3481
IE No. E £ TEA R EE
11 4] 1750 k3% B2 Q) &k 2,06.21 Q
o VDL HNFIEZEE
2 5 2808%k X)) &K 2,06.25 Q
740 54 EARE
3 6| 1581 gRE &5 (2) B 2,06.25 g
145 1944 EHMA
4 31 1908 Il #03& (1) =i 2,06.80
1707 43 €T tEAE
5/ 7] 1531 AE mEN) &R 2,12.59
114 39N R4t
6| 2| 17854k@ ®BAQ) | && 2,13.25
5 vagh ;|
7 8 1856 AR BA(1) &K 2,25.27
h3%7 9% LTHZEAR
R B
IE No. E £ TEA Bk mE
1 4 2811 4t B2 (D) B 1,59.49
447 Y219/ EARE
2 6 1669 m+AE =22 &K 2,00.78
10 3% 744 EARE
3 8 1783 &HiZE ¥#t(2) =R 2,01.41
V4 Eo¥ ;|
49 2808k LB B 2,03. 51
740 54 EARE
5 70 2779 %L @B (2) =R 2,05.24
AP b LHA
6 3 1581 fRE #EH(2) B 2,05.38
145 1944 EHMA
7 5 150%kH* B2 @) &K 2,10. 39
VDL HNFIEZEE
8 2 1881 B% wE(2) =i 2,10.98
5/ Yany' LATH




FF

GREE [9F 128 __[10:30]
717500m
B 5tk KR) 3,38.49
=ik (GR) 3,56. 71
R B
[ 148] [ 2#8]
I No. E £ TEA R fwE | B No. E £ TEA Bk mE
1 10 1553 #mi# A (1) 53 4,31.90 1 6 2771 TEM F& (2) 53 4,04.57
YHE 9 hUh iR NTh By LHA
2] 2 1534w HAQ) |B 4,36.62 2] 5 16654 M2 (2) | 4,06. 36
Vi aVIEV))] R4 A3t 19% EARE
3| 13] 1531 KA =EXN) 53 4 37. 41 3 3 1662 )1+t &H#k(2) 53 4, 06. 81
114 39N iRt h7h7 bEY EARE
4 6| 1785{&kHE ¥ A(2) 53 4, 39. 46 4 11 1647 AR 1&&(1) 53 4,10.58
35 yayb A Wt b EARE
b1 14 2829 48 KEEF() &k 4, 40. 46 5 7 1750 kx# &2 (2) 53 4,10. 63
7993 4490y INEE VDL HNFIEZEE
6 12 1576 /MLUME #XR(2) =& 4,45.52 6 20 1910 ®@E Z=&1) 53 4,12.03
ey Ay LS PNE Ay b LHA
7 5 1589 KFH ZH=K(1) B 4,45.87 7 4 1783 & ¥#tQ2) 53 4,12.13
T Y9 AFH V% 7 tn$ +H
8| 11 1621 WA A1) o 53 4,48. 71 8| 14] 1909 /pék EAN (1) 53 4,12.99
975 294 EATHRE ' vy b LA
9 9 1587 iE@A &Rk (2) B 4,49. 66 9 10 1882 ¥piE EH& (2) o 53 4,24.02
#v4 19t AFH YHE 9 Hi L HAFH
10 3| 1580 /i EA () =R 4,53.75 10 9 1581 /gREH & (2) B 4,25.69
vy 44 iR 145" 1944 AFH
1 1) 1856 2iR &% (1) 53 4,57.06 1 15| 2826 trA BB (2) 53 4, 32.14
h3%7 9% LTHZEARE 4F Eth IR
12] 8 1854 K18 ##(2) |B#K 5,06. 89 12 1) 1755/ K@ A1) |BiK 4,34.64
TN vany LTHZEARE Th' 3 hvh HNFIEZEE
13] 7/ 1816 &# KE(©2) |BRK 5,07.67 13 8 1780 O Hth(2) |&K 4,36.77
3y & 1k FAXR S A wAl +H
4] 1809/ LB E(2) 53 14 13 1857+ B (1) 53 4,49.48
Wt I\JWJ LHXE Ri5 #hei iy LTHEAE
12| 1881 BE &wE (2) 53
ah/ Ya%y” L HAFH Ri5




FF

175600m

A4 LL—R
JEHZ No. K £ B FF 1R =k & &% | # IBfr
10 2771 |[fEfE F% (2) &% | LA 4,04.57 21
2| 1665 #E 2 (2) = EARE 4,06. 36 2 2
3| 1662 JIIA &8 (2) = EARE 4, 06. 81 2 3
41 1647 2 && (1) = EARE 4,10.58 2 4
5 1750 k# BEE(2) = AFIEPE 4,10. 63 2 5
6 1910 HHE =& (1) &% | LA 4,12.03 2 6
1 1783 HiE 4 (2) &% | LtH 4,12.13 2 1
8 1909 /pik EA(1) &% | LHAf 4,12.99 2 8
9] 1882 #1iE B (2) =k | EHETH 4,24.02 2.9
100 1581 8k &5 (2) =t =] 4,25.69 2 10
11] 1553 #niE A (1) &% |HiRE 4,31.90 1] 1
12, 2826 ™A BE(2) m NGl 4,32.14 2 1
13 1755 K 1537((1) = AFIERE 4,34.64 2 12
14 1534 #xiE HA (2) &% BRI 4,36. 62 1.2
15| 1780 O *’?14_1,(2) &% | EH 4,36.77 2 13
16/ 1531/ KH =F(1) &% BRI 4,37. 41 1.3
17, 1785 {KH #A(2) &% | EtH 4,39. 46 1. 4
18/ 282985 KEER(1) m Nl 4,40. 46 1.5
19 1576 /MUHEH JER(2) &% |HiRE 4,45.52 11 6
20/ 1589 K# Z=iK(1) =T =] 4,45.87 1.7
21 1621/MHE %A 1) B |EATHRE 4,48.71 1] 8
22 1857 B R (1) =k | EHAFE/E 4,49. 48 2 14
23| 1587 gEM 1&AL (2) =t SE=C o] 4,49. 66 1.9
24) 1580 /k EAX(1) &% |HiRE 4,53.75 1,10
25 1856 | &R 2% (1) =k | EHAFE/E 4,57.06 111
26/ 1854 Ki5 #£4h(2) =k | EHAZE/E 5, 06. 89 1] 12
27] 1816|&i#t X¥(2) &% | EAR 5,07. 67 1,13




FF

5000m

B 5tk KR) 13,45.23
=E0EX (GR) 14,22. 25
R B
[ No. K & EA Bk EE
1 5 2771 1t F&(2) B 15,17.37
NTh By LHA
2 12) 1661 B BEQ) B 15,19.33
17%% 39 EARE
3 4 1666 AB m#E Q) B 15,28. 88
YV EARE
41 9 1663 K+ HI£(2) |BK 15, 34.43
47 9 h EARE
5 14 1909 /hpek EA(D) B 15, 34. 91
an' ¥y b LHA
6 8 1910 A =&(1) =& 15, 56. 04
ar45 b o= ic)
713 1750 kx# B2 () & 16, 35. 11
h'4 9% AFIEEE
8 7 1853 RIS MEK(Q2) B 16, 37. 60
14%° 3 4ktEn LTHZEAR
9 6 1832HE BEAR(Q) B 16, 48. 60
YHE 4§97 T L HFeh
10 3| 1755 K#& A1) =& 17,16. 63
h' 3 hvh A FIEEE
11 1 1754/4% #1Ek(2) &K 17,44.35
A3/ %5 AFIEZEE
12 11 1580 /pik EX (1) &K 18,41.73
vy h44 iR
2 1888 =T & (1) 53
NZININ L HAFH Ri5
10| 1534 #AF HA Q) 53
Vi aVIEV))] R4 Ri5

[(RES

98138

12:45 |




FF

17T0mH

B 5tk KR) 14. 44
=ik (GR) 15.25
R
BaE -1.3

I v-»] No. KE 4% kA ik EE

1| 4 2845 %R =82 |[&& 15.08
YN T htr EARE PNk d

20 3 2807\ REN) B 16.14
WWRVEVLY EARE

3 2| 1650\ KM K (1) 53 16.72
$9% 1am EARE

4 5 1536 BAF B%¥: (2) 53 17.02
N RN iRt

5 6 1751 /h#k =31 (2) 53 17.31
Yy hqb HNFIEZEE

6 7 1592 4B B®) =15 20.48
VR EV) AFH

£F
400mH
B 5tk KR) 51. 36
=ik (GR) 53.29
R

I v-»] No. KE % kA Rl Y8 E

1T 5 1814tk BZ=(Q) & 1, 00. 51
w3 LHE

20 4 28140l BT Q) Bk 1,01.60
FHYT pEIF EARE

3 7| 1539 % #E () =15 1,02. 61
MY 3F R4t

4 2 1757 @ &EE(1) B 1,03.48
Y49 ghen A FIEREE

5 3] 1889/fnEk MAA () B 1,06.88
hbg nrk L HAFH

6 8 1555|= EA() A& 1,07.12
397 4% iR

7 6/ 1592 B B®) =15 1,13.91
Thy v Y39 AFH

GRIB [9R128___[12:00]
GRIB 9R138__ [12:30]




FF

3000mSC

GRIB [9F128___[13:50]
GRIB 9R138___[11:15]

B =350 8% KR) 8,51. 11
X508 (GR) 9,15.30
R
& No. E 4 HRa 05 EmE
1 10) 1665 & S (2) =15 9,32.22
L5t 19% EAEE
2 8| 1662|JI14F &&k(2) =15 9,37.98
L5 bER EAEE
33 2779 &l BERQ) Bk 9,44.90
TAYY b +H7E
4 5 19122 3. (1) =15 10, 23. 04
40 745 +EAE
5 9 2772/ %N EAFE (1) =15 10,37. 71
BrYF bEk +EAE
6 4 1853 fRIE #fEK(2) =15 10, 45. 42
149" % 4ktn LtHESR
7 6 1888 \F @EEN) Sk 10, 54. 34
Y8 3 EETH
8 7 1754 B BEQ) B 10,5436
A3/ %5 HNFIEZEE
9 2 1534/ #:2 BB Q) =15 11,29.02
W T BFiR4e
1 1809 2 & (2) =15
Wt nbh tHEE Ri5
FF
5000mwWw
B =508 KR) 19,45.72
X508 (GR) 23,10.92
R
& No. E 4 HRa 05 EmE
1 4 2780 AHO %5 (2) =15 22,27.55
8 F vty +EAE SE%
2 1) 1587 A &R (2) &R 25,09.17
#v5 19t ERE
3 2 1576 /NLUE BR(Q) Bk 26,01.54
L LN TR
4 3 1854 ki BB (D) B 34,32.54
TN Yant tHERAR




HF (B 9A128  [14.30]

4x7100mR

B 5tk KR) 40. 95
=ik (GR) 42.59
R B
[ 148] [ 2#48]
I§ v-v PB4 No. K # BRBE OIE VY mEA N. K £ B EE
1 5 BRI 1537 HIE 6 () 46.02 1 4 EARES 1653 12 #EBA (1) 42.35
74 %4 A % 197 $hFant(a19 75479 393 IR
1532 FE #ks (1) 2847 iR —#E(2)
77t 74t T 9 A0l
1539 #& B4 (2) 2815 7% =5 (2)
NS 1M V¥
1536 PR BEHi(2) 2809 %& #Ets(1)
e 2 1374 hth
2 6 tHZEAR 1857 &3 BR (1) 46. 22 2 3 A+H 1583 HEsk K4t (2) 44.16
918 Y Mt #94 Y1y 19434 A 44%
1855 dhiE & (1) 1585 ¥IE S=th(2)
T4 0 an% YD YAy
1854 Kim #th (2) 1584 SR K#(2)
N vy ghe 5 4%
1852 /hE K (2) 1591 BEE H®A()
%33 P37 Y94
3 2 LHETFH 1889 fniE @A (1) 47.16 3 6 EH® 1812 #8234+ EiE(1) 45.83
918 FH3 hhg b 9IS LY 934 714
1880 FEIER # (2) 1815 /hR A% (2)
A van MR 3 MY
1878 FK HIAX () 1810 =& Yt (1)
VRV SIVEDL N9 Ehl
1890 thft HF& (1) 1814 ik EZE(2)
Thh3 b w+y yj
4 4 tH 1781 =& 1&th (2) 47.77 4 2 tHEAES 1915 & BEX) 47.08
914 YD vany 915" 2939 15745 3%
1779 B RBFK (2) 2773 il A (2)
70 FH4v 0y %
1787 &8k BA(1) 1914 BER mAK®)
LAVIKEVES UV
1782 #l:E B (2) 1908 )il FIE (1)
T v4Y 1709 hA'ET
5 71 AFBEPE 1758 Ei5 ®A ) 48. 61 5 b5 INEE 2830 F & fEE (1) 49. 40
WWaAvaoh” hhy UL J1E0 7YY A9AF
1751 vk ZE 3L (2) 2822 thif FEFE(2)
Y Fb Thh3 AN
1756 =it &5 (1) 2827 B X3 (2)
h33y 19t( ah) 34+
1757 @EE EE (1) 2823 stiE sE(2)
Y49 4hen Y 93 MEAR
6 3 FRES 1579 =3#H it (1) 51.31
VX NUR Sl Y4 MEE
1575 & 2 (2)
WY LYY
1554 1FH H|/E()
Ik 4 44t4

15556 =& EA ()
397 45




FF
4x7100mR

AALL—X

[[=fo3 R4 HMERFE FiF BE -5 -1 -5 -2 e -5 -4 # | IEfz
1EARES 42. 35 Ktk &% #EBU) iR —KBQ) #&k S5 Q) EE #Etid ) 2 1
2 &% A 44.16 ok KEHQ) #E Zth(Q) =B KEQ mE O'AXA) 2| 2
JEAX 45.83 M EEA) DR AEEXQ) EE ) MK BZE(2) 2 3
4 57R4E 46. 02 B 6FQ2) FE Eﬁﬂaﬂ) ® BAE(2) BIF B (2) 1 1
5 rHZEARRE 46. 22 EHF B ) hiE K& () K B2 hE Q) 1 2
6 LAAS 47.08 HE EE0) EJIJ.I #AQ BRE mAWM [ FE) 2 4
7 AT 47.16 ok WA () [EE HEQ) EK IR e FEA) 1 3
8 M 47.71 B 8t (2) B§ MR Q) T3 axm HE BB (2) 1 4
9 ALFIEZEE 48. 61 Eif B0 /# =3 (2) Bx BB @EE EE0) 1 5
10/ S 49. 40 FE B&H) |hF EFQ) BEF KI Q) sEE mEQ 2 5
DN 51.31 =H HiH 1) BB E(Q2 H REA) =EGEKRD) 1 6




FF

B 9A138 15:10
4x400mR
B =508 (KR) 3,15.32
~E04% (GR) 3,21.26
R B
[ 148] [ 248]
I§ v~ FrE4 No. K # BRBE OIE Vv mEA N. K £ B EE
1 5 tM 1781 =2 158 (2) 3,34.49 1 5 kARE 2849 B BTz () 3,19.02
9I4° D Yany ¥oFantd k3" Yan/rk Rk
1783 FHiE ##(2) 2811 Je#t B2 A (2)
¥ 0 kNt 447 Y%/
1779 B8 hB3 (2) 2808 ZiR LI (1)
3+ 7 THh Ar
1777 B8 B Q) 2806 =iF HME(2)
139 19 Nk Ny
2 6 INEE 2822 thft FTE(2) 3,34.91 2 4 EFE 1583 HEok K&t (2) 3,35.10
a0 Thh3 39N VST 924 44%
2826 A BE(2) 1585 #IiE Z=th(2)
4mF Et4 THH T Yady
2827 B %3 (2) 16584 &R K#(2)
ah) 4+ aht 4 4%
2823 3 &E (2 1591 @ ;A
Yy 97 MEAR 31347 Y94
3 3 LHE%ZAER 1855 i #& (1) 3,42.65 3 2 rEA®E 2773 il %A (2) 3,41.40
914 Y X ¥th 4D a9 915" 2939 THhYR hy
1852 /A& 1 (2) 1908 )il #NZE (1)
5 3 {747 537 EF
1853 ERIE HEX (2) 1915 & EE (1)
14%° % 4kt 1545 3%b
1857 3 B (1) 2779 #L EHE(2)
he Y1y IAYY N
4 4 HiRE 1554 1T+ &£ (1) 3,45. 24 4 3 EBRit 1537 HEI& 55 Q2) 3,43.82
/¥ D3t Yk 4 8414 VANDES ! 44" % 197
1555 =@ ZEAN ) 1539 #£& #4&E (2)
97 h44 NV
1575 B E(2) 1531 KB ®mEW)
WY eV 5 Faon
1579 =# % (1) 1536 BIF BB (2)
1 MEE NP UM}
5 2 AFEFE 1751 vk =3 (2) 3,51.72 5 6 AT 1880 AR # (2) 3,45.97
Iy ohy ey hqb 91§ F93 THa' vy
1755 K# X (1) 1881 B% EE(2)
3 hvh VVAFU
1750 kx# E2(2) 1878 &K K (2)
4 Yok AYNIVELL
1757 @2 &E (1) 1890 it HF&H (1)
Y%7 4hEn Thhs ni¥
6 7 EE®E 1814 IMiR BEZE(2) 3,47.84
9I8 N Y w3
1811 k2K =Z=ZE ()
HE 193y
1815 /MR HX(2)
MAT3 MY
1812 3 E$E(1)

#5934 71%




FF

4x400mR

AALL—X

[[=fo3 E4A HMERFE FiF BE -5 -1 -5 -2 e -5 -4 # | IEfz
1HEARE 3,19.02 K&tk B B Qdd Bz Q=R XBA) E HR(Q) 2 1
2 tH 3,34.49 B 8th(2) EHE F# Q) B exO EBZ &2 1 1
3INEE 3,34.91 A GEF Q) [MTA EQ) 5% F3}(2) 8 mEQ) 1 2
4 E&5FHA 3,35.10 Mok KEHQ) #¥E Zth(Q) SHE KKQ) mEmE OEXA) L 2 2
5 LARA 3,41.40 iy AQ) Wl FEA) HFE EEA) L OEKQ 2 3
6 FAZAR 3,42.65 hiE K&HA) IME RO fRIE HEK(2) GEH BRA) 1 3
1 R4 3,43.82 HBIE 6F2) %% #BE Q) AKEH FFEA) BEF BHQ 2 4
8 BFREE 3,45.24 WH REA) =FH EXA) HBE EQ =H gFiH0) 1 4
9 EAFHh 3,45.97 FEER #E(2) BF% 8502 BFK HKQ i FFHEA) 2 5
10| EAXR 3,47.84 IR BZE(2) EAK FEN)MNR BAXQ) EH EEA) 2 6
M AFIEFE 3,51.72 IR ZE3L(2) (K EXRA) kH#FEBECQ BHE EE0) 1 5




FF GRIB 9R138 | 9:40]
el
EE Bk
=]
B8 (KR) 2.17
R B
= - - Tm40 Tm45 Tm50] Tm55] Tm60 1m65 Tm70] Tm75] Im78| Tm81]
B4z | 3 Fon K 4 g4 1m84 1m87 1m90 AL ER &E
1 5 2846 £ #(2) =% e I e e e e R S R
PEad I EARE 0 X0 [Xxx :
20 4 1536 EF BE () = - - - 0o 0o 0 0 [xxx 170
N A iRt :
3 3 1539 #% @& () = 0 - - - X0 [Xxx 160
MY 3§t iRt :
4 2 1915 /F B|EQ) = - [0 0 [0 xxx 156
1545 3th @A :
5 1 1751 /h#k =31 (2) = 0 0 XX 145
Ay fqb AFIEZEE )
FF GRIB 9R128__ [13:30]
ENEEk
=
EE55 (KR) 7.61
=ik (GR) 7.14
R B
B4 BB ton - K % e -1- -2- -3- -4- -5- -6- 08 BE
1 9] 2815 @& =IE5(2) =54 6.37  6.20 6.63  6.70 X 6.70 6.70
1b v% EARE +0.3 0.0 | 04| +1.6 | -1.6 +1.3 +1.6
20 7 1584 BiR A#(Q2 Bk 6.12 | 6.14 X 6.28 | 6.23  6.42 6.42
g% 4 4% EHE +0.8 | +2.8 | -1.2 0.0 +2.8| +0.4 +0. 4
37 8 2810 ##FF =& () =5 X 6. 39 X X X X 6.39
IV EARE 1.7 +2.2 -0.2 | +2.2 | -0.3 | +0.3 +2.2
4 6 1591 @mE mA() | & 598  6.14 579 | 5.99 X 5.95 6.14
I Y98 Lol +0.2  +2.7 0.0 +1.9 +2.0  +0.4 +2.7
5 4 1664 A#t F (1) s X 564  6.13 58 | 608 5092 6.13
£5 47 % EARE 0.4  +0.2  +1.4 | +0.1 | +0.2 | -0.5 +1.4
6] 5 2822/thff EFQ) =5 X 6.11 X X X - 6.11
+hL5 39A{ INEE 1.1 +3.2  +0.8 | -0.2 0.0 +3.2
7 2 2830/%E fE&@m() s 594 X 5.82 X X 5.86 5.94
F39% IWAr N 1.0 +1.1 +25 -1.1| -1.2 | -0.5 -1.0
8 3 1810 & x(1) B 564 593 58 58 | 580 583 5.93
U0 Y Ehb = 1.0 03 -0.2 | +0.3 -1.7 -0.6 -0.3
9 1 1778/ E MK () =15 464 463 5.02 5.02
VI MEUL. iq:: 0.7 0.6 +3.2 +3.2
FF GRB 9R138__ [12:30]
EE55 (KR) 15. 58
K& (GR) 14.63
R Bk
B EHE - K & it - [ 2= | 3 | 4 | 5 | 6 | mig | fE
1 5 1584/ A#(Q) &K X 12.77  13.17 | 13.51 | 13.12 X 13.51
ah% 4 4% EHE +1.6  +0.2  +1.1 | +2.3 | +0.5 | +2.2 +2.3
20 6 2822 thit EFE(Q) =15 12.94  13.21 | 13.19 | 13.33 | 13.27 | 11.73 | 13.33
wISEVN INEE +3.2 +1.0 +0.9 +1.4 +0.8 +3. 8 +1.4
30 4 1591 @mE mA() &k X 12.16 X X 12.26 | 12.48 | 12.48
I Y98 Lol +4.0 0.4 +2.2 | +2.2 | +0.4 | +2.3 +2.3
4 2 1810 :&mE £ (1) =15 11.87  11.94  11.13 | 11.84 | 11.54 | 11.45 | 11.94
U4 Y Ehb = +1.6 0.2 +1.1 | +1.5 | +3.4 +1.6 -0.2
5 3 1880 m@Ep H(2) Bk X 11.33 | 11.60 | 11.79 - - 11.79
Tha' van L HAFH +2.4 | +1.8 | +1.1 +2.6 +2.6
6 1 1751 /hdk = (2) =k 11.51 | 10.64 | 11.12 X X 11.35  11.51
'y b HFIEHEE +5.8 0.2 -0.6 +2.3 +1.7 | +.4 +5.8




FF GRIB 98138 11:50]
B 547 (KR) 14.76
25042 (GR) 12.98
R
B ik Fon - ﬁlEE % FiiE4 -1- | -2- ] -3- | -4~ -5- | -6- | =8 ik
1 6 1887 42 m (1) =15
I wf; ;?B;() . 10.66 |10.22 10.63 10.81 10.69 10.65 | 10.81
PRIAN N Al =y
e m;( kel X | 716 X 828 860|9.07 9.07
3 3 1758 Eip RmA (D) Stk
i o 7.48 8.47| 8.19| 8.76| 7.27| 7.60 8.76
4 5 1552 /hEk —RE (1) =%
) 3"“‘7’,13’5‘() E’?fﬁ 7.85 8.20 7.69| 8.37| 8.05| 8.06 8.37
=H LKA [S153 _ _
i ;M m%() ;%;qut 6.33 6.13 6.18 6.41 6. 41
2R B3 =
T s 543|521 546 585 6.10| 6.03 6.10
FF GREE 9H128 [ 9:30]
B 547 (KR) 45.21
25042 (GR) 38.25
R
B ik Fon - ;&( 2 ’ FiiE4 -1- | -2- ] -3- | -4~ -5- | -6- | =8 ik
116 1590 F58 A5 (1) =%
e 91;* ﬁfm 25.80 |26.72 22.82 27.12 |26.96 |24.34  27.12
20 7 1887 4B mE#H (1) =
1 1753*92‘;9%&1() LE:F% X 118.9525.54 X 21.42|24.69| 25.54
B8 A (1 =2
i A 22.00122.16 23.18 20.43 | X |23.29  23.29
4 5 1756 @k BEE (1) =15
) QE“} mu() ;Lfﬂééiﬁﬁ 19.89 22.10 22.92 21.47(20.05 | X | 22.92
NI EANQ =15
L H;; ;%;qut 16.18 17.72 17.40 19.17 17.81 [19.74 | 19.74
6 3| 1552/ /i —m (1) =%
Iy Tt e 18.17 118.73 X 16.46 X 19.01 | 19.01
20 1578 &N £ (2) =153 Ri5
yiho 24 BiRE




FF

GRIB 9R128  [12:00]
N> v— (6. 000kg)
&R KR 57.29
K557 (GR) 50, 48
RS
“Eﬁ? ﬁ?% 7‘1/5\7;3 i ﬁEE(Z)% - FiE4 -1- | -2-] -3- | -4~ -5- | -6- | &K &E
L =14
A
B R - .31 17.51 17.68 19. . .
3 7| 1590 ?\?\fiégf"z‘(” Eﬁm 17.13 16.62 16.71 16.60 17.86 17.56 17.86
4 6 ‘8783?5;’5 ?33,’;(2) _J'%:_ém X 1523 X | X 14.29 16.71 16.71
A0 LH
IER e e
7 2 1853 ;g;%c/,;é;g{z) g;ﬁﬁ 1293 12.02 _ _ _ - 12.23
1457 s1tn LERBE 29 |12, :
8 5 1855 syfojﬁﬁm T 00 - - - -~ 1003
i?[ 0 800/( GRiB 9R138  [13:00]
Y & (0. 800kg)
&R KR 62. 58
K557 (GR) 57. 42
RS
RoEg K. FRE T S S @R
7] El =R
SeEE g Sossan
3 9 1878 9%71? ;33;;(2) ;g;:;;it — . . |
e B 34.87 36.93 38.67 30.26 38.99 38.04 39.26
4 1) 1852 ;{Jﬁ ;5%2) ‘J.%:‘g%%& 28.86 27.43 X 35.32 33.78 30.67 35.32
: j 1:32 i;giﬁ,agiii ?:]—’E " i zziz 33;(61 34;(82 34;(41 33;(89 Z:Z
7 3| 2801 %Evé%]géé{(‘) gi’?t X x 212 X | X 2457 24-57
8 2 1556 %’{&Ugg(” %éﬁ% 21.88 21,02 22.18 20.74 23,29 18.40 23.29
IR ] g?” iy x x 16.72 1 16.72
oA HED)  BE | s
9339 1944 AFIEZEE




FF B 95138 14:05]
AY: 173
p5H
B =525% KR) 5532
=E0EX (GR) 5354
JEAL] Fon - K % B4 ERE:S e
1) 2846 =2 &3 (2) o 53 4691
Viudh LA EARE
2 1537 @& 63 (2) Bk 3780
4% % 1977 iRt
3 1533 @M@ k(1) B 3443
s uh R
4, 1556 miR HZ (1) = 2855
o' 71k iR
3 9812 9:50
/(E 1700m GREE 9F128 |
BiE -3.4
I v-v| No. K EA Rk HE
1 5 2846+ E &3 (2) 53 11.95(661)
Viudh LA EARE
2 4 1537 EIE 167 Q2) 53 12.23(606)
% 197 iR
3 2| 1533|@M@ BE) 53 12.99(470)
s uh R
4 3 1556 mE HZ (1) 53 13.20(434)
fun 71k iR
/MR EE___VATE 100
JEf | BB Fon - K % B4 -1- -2- -3- -4- -5- —6- F0ER #=
11 4 2846 £ B3 (2) = 6.03 X 4.29 6.03
YFY B4t EARE +0.3 | +2.6 | +1.6 +0.3 | (593)
20 3] 1537/ mI& BF @2 = 5.77 | 5.82 | 5.90 5.90
44 % 197 R +2.4 | +1.0 | +2.0 +2.0  (565)
3 1) 1533 @A BE() 53 X 5.64 X 5.64
Ty vy R +3.3 | +2.3 | +4.1 +2.3  (510)
4 2 1556 mIi% HE(1) = 5.06 | 5.18 | 5.32 5.32
Fun' 71k FiRm +1.9  +1.0 | +2.3 +2.3 | (445)
/BRI A —SATE )
JILE% *z‘t?% f‘ég‘;‘é :t ﬁEE_Héi3 RS -1- [ 2= ] -3-] -4 [ -5- ] -6- | &z &E
B '3} =153
i ‘ﬁxz}”g " Efﬁgu 9.54 9.86| 9.93 9.93 (481)
E ] ;ﬁ 2 =14
1 ?—*]H ;;2](1) ¥?;f2||: 9.01| 8.31| 8.66 9.01 (426)
rﬁEEI 2 =14
i %’9& IJJ,Z . ¥?;fii|: 6.41 | 6.42| 6.44 6.44 274)
y 'J% 5
fon 7l E:,Rﬁ 6.29 X | 5.81 6.29 (266)
EX 98128 13:35]
JE400m
B 5tk KR) 46. 98
JE[ v-Y | No. K 4 EA iR HE
1 2| 2846 X2 & (2) o 53 53.71(652)
Viudh LA EARE
2 5/ 1533|@MA BE(1) 53 56. 18 (552)
s uh R
3 3 1537 EHIE 167 (2) 53 56. 30 (548)
% 197 Er,R:H:
4 4 1556 FE H2 (1) 53 58. 78 (456)
o' 71k iR




3 95138 9:30
J\FEET110mH FB : —930]
A% 0.3
& -y No. [:3 -t TR mE
1 4 2846 tE #\I () &K 16.19(711)
YF 14 EARE
2] 2| 13T EIE HEQ B 18.44(483)
4% % 1977 ¥R
3 3] 1533 @M@ RE() Bk 18. 87 (444)
the R4
4 5 1556 FEK $E=(1) B 22.40(184)
fon 71k LS PNE]
J\ELY KR (R GATSH _10°50]
JILEﬁ:L Eiﬁ% T;g;;ii ﬁEE_H% B4 A= | 2= | 3- | -4~ | 5= | -6- | m:=m | EE
=350 =%
1 1537‘7%% . Eﬁﬁgu 31.20 36.06 39.16 3916 (4000
En ;ﬁz =4
1 1533%}0* i;i]m Erfjt 3212 X 36.86 36.86 (597
H'J'E 2 =4
e %’?,;12 . Erfjt 26.67 X 2523 26.67  (p5)
Y 'J% 5
it B 25.31 22.73 24.65 2531 (hapy
/(Ei-; ; B 98138 11:50]
=7
Bk Bt o - E % — m;g mgg mgg mgg mgg 160/ Im65 168 Tm71 174 pe | ps
T 1) 2846 £ #(2) =% e e e e e e e S e 1 86
Prad I EARE X0 0 0 X0 XXX 7 (679)
20 2 1537 @I EF Q) = - - 0 X0 0 [Xxx 1.55
4% % 1977 BFRAL ) (426)
3 4 1533 @M Ed) = -0 0 X0 [Xxx 1.50
e ) BRI Y (389)
4 3 1556 @i H= (1) = 0 0 XX0 XX0 XXX 150
Fun 7ak iR 7Y (389)
3 98138 __ [14:05
J\F#E1500m FB : 405
BEEE5 KR) 3,38. 49
u[s No. E % -t | R HmE
3] 1533|@m@ k(1) B 5,01. 46 (551)
v VL) BiR4 |
2] 1] 2846 +E #BF (2 &R 5,13. 56 (484)
Pradb Ll EARE |
3| 4 1556 @K SE(1) B 5,20. 63 (447)
Fun’ 71k iR |
4 2 1537 @Ik HFQ) B 5, 44. 87 (329)
5 % 197 iRt |




1-7°" 28 F

GREE 98128 11:11]
700m
B2 KR 10.32
[ 1#] BE=ZE -1.9 [ 2#8] HE -0.8
IE -y No. K 4 R4 Bk mE B V-V K 4 R4 iR thE
1 3 1653 %2 #H(1) =15 11. 41 1 6 2815 Fk TE5(2) 53 11.16
7940 A9 EARE b 9% EARE
27 1654 KA BR(D)  BE 11.57 2 4 2845 FE BHQ) B 11.63
47 177 % EARE YN T htr EARE
3 4 I0 A BED)  BR 11. 64 3 2 1650 kA LKD) BR 12.29
A7 49 EARE ¥9F 1an EARE
4 2 2807 RE BEN) B 11.93 4 3 1652 EERE BE(I) B 1311
VRV EVLY EARE #4b9 1914 EARE
5 5 2822 AT EE(Q) B 11.99 5 5 1T8#E MAXQ B 13.87
543 398 INEE WTE Yauh i
6 6 2801 EFH gA() Bk 13.10
v/ Yay79 EARE
_9°
1-7"2FF (RE 9H138__[10.01]
200m
B KR 20,93
AR -0.5
IE -y No. K 4 R4 iR thE
17 284840 AIKQ) B 2316
B9 F Y9 EARE
2 8 284THR —BQ Bk 23.32
40 A EAED
3 5 1653 @2 @H() Bk 23.59
7040 A9 EARE
4 3 1651 {kE EMI() Bk 2418
35 It EARE
5 2 2850 tE BAQ) B 2492
¥ 19% EARE
6 6 16527%mk BE() Bk 26.76
#4by 3914 EARE
4 1555 =i EA() =k
93 144 R R”i5
—7°
1-7"2FF B 9H128 __[10.01]
400m
B2 5% KR 46.98
IE -y No. K 4 R4 iR hE
13 2811 kM B2h Q) Bk 5012
EYISIEUIIYS EARE
2 1 850 tE BAQ) B 54.28
¥ 19% EARE
3 4 1651 kM EM () BRE 54.58
35 It EARE
4 20 2814 Bl =17 (2) 53 55.23
FHYY pE2E EARE
' )
1-7"2FF B 9H138 __[10.51]
800m
B 1,48, 46
I No. K 4 R4 iR thE
11 1670 X1 % (2) Sk 2. 08. 66
Tyh Yaoh EARE




1-7°" 28 F

175600m

B =508 (KR 3, 38.49
R B
IE No. E £ TEA Bk mE
1 6 1663 K#f g (2) =R ,06.08
47 K5 h EARE
2 5 1661 &l B4 (2) =R 4,07.16
174%% 19 EARE
3 2 1666 KB @& (2) =R 4,10.13
BNV O+ EARE
4 4 1669 E+jE 2= (2) =R 4,20.92
10" 39 744 EARE
50 11 1908/l #F1& (1) |Bik 4,22.77
1547 B2 ET LHA
6 8 1642 )1l ER(1) =5 4,23.34
W9 F EARE
7 1] 1643 /vt Figs (1) =R 4,25.72
UUE EARE
8 70 1786 ®R & (1) =R 4,34.174
WAV 20 +H
9 3 1670 KIE 3 (2) =R 4,46.18
THyh Yaogn EARE
9/ 1551/ kK17 =& () |&#&
THyh 49t iR Ri5
100 1641 #FH EREE (1) =8
734 3y 09 EARE Ri5
120 2775 %77 AR (1) =15
At vanh LA Ri5
1-7°" 08 F
5000m
B =508 (KR) 13, 45. 23
[E No. E £ TEA Bk mE
1 2 1642 11O BER) =R 15,42. 11
W79 F H EARE
2 11 1643 /vt Fi#s (1) =R 15, 55.91
e UES EARE
3 4 1912 @i 3= (1) =i 16, 42. 38
T4 7437 LHA
4 3 2772 ¥R ERRE(D) =R 16, 47.12
¥ be% LHA
5 1641 #FiH KRB A) B
734 3y 09 EARE Ri5

GRIB 9R128___[12:45]
GRIB [9R138___[12:46]




	表紙
	決勝記録一覧表
	100
	200
	400
	800
	1500
	5000m
	110H400mH
	3000sc5000w
	4×100
	4×400
	高幅三段
	砲丸円盤
	ハンマーやり
	8種①
	8種②
	op
	op2

